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Note : Answer all the Sections, as per directions 
given in each Section. 

Section—A 
Note : Answer any two questions in about 

500 words each. 2×20=40 

1. “Rapid industrial growth holds the key to faster 
economic growth.” Do you agree ? Explain  
fully.   

2. Explain the implications of the “Heavy-
Industry-led-Growth strategy” adopted in the 
earlier phase of economic planning in India. 
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3. “The New Industrial Policy, 1991 made a bone- 
fire of industrial licensing in India.” Comment 
What are the objectives of NEP, 1991 in India ?  

4. “As the industrial base of the economy 
progresses gradually, the composition of India’s 
foreign trade basket keeps changing.” Explain. 

Section—B 

Note : Answer any four questions in about 
250 words each. 4×12=48 

5. Discuss in brief the causes of growing sickness 
in industry in India. Suggest measures to check 
it.  

6. Explain the different factors that determine the 
location of industry in an economy. 

7. Examine in brief the major achievements of the 
public sector in India. 

8. Discuss in brief the major problems being faced 
by the micro, small and medium enterprises 
sector in India.  
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9. Evaluate the contribution made by 
multinational corporations in the industrial  
growth of India. 

10. Distinguish between ‘Money Market’ and 
‘Capital Market’. Explain the significance of 
capital market in industrial progress of the 
economy. 

Section—C 

11. Write notes on any two of the following : 2×6=12 

(a) Tariff Barriers and Non-Tariff Barriers 

(b) Intellectual Property Rights 

(c) Concentration of Economic Power 
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Lukrd mikf/ dk;ZØe 

(ch-Mh-ih-) 

l=kkar ijh{kk  

twu] 2023 

bZ-bZ-lh--07 % Hkkjr esa vkS|ksfxd fodkl 

le; % 3 ?k.Vs     vf/dre vad % 100 

uksV % rhuksa [k.Mksa ^d*] ^[k* vkSj ^x* ls funsZ'kkuqlkj 

iz'uksa ds mÙkj nhft,A 

 
 [k.M&d  

uksV % fdUgha n ks iz'uksa ds mÙkj yxHkx 500 'kCnksa 

(izR;sd) esa nhft,A 2×20=40 

1- ¶rhoz vkS|ksfxd laof̀¼ gh rhoz vkfFkZd laof̀¼ dh 

dqath gSA¸ D;k vki lger gSa \ iwjh rjg ls O;k[;k 

dhft,A  
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2- Hkkjr esa vkfFkZd fu;kstu ds izkjfEHkd nkSj esa viukbZ 

xbZ ¶Hkkjh&m|ksx&izsfjr&laof̀¼ ;qfDr¸ dh O;k[;k 

dhft,A 

3- ¶ubZ vkS|ksfxd uhfr] 1991 us rks Hkkjr esa vkS|ksfxd 

ykblsUl iz.kkyh dh gksyh gh tyk nhA¸ fVIi.kh 

dhft,A Hkkjr esa ubZ vkS|ksfxd uhfr] 1991 ds 

mn~ns'; D;k gSa \ 

4- ¶ftl izdkj Hkkjr dh vkS|ksfxd vk/kj jpuk 

/kjs&/hjs cny jgh gS mlds lkFk&lkFk ns'k dh 

oSnsf'kd O;kikj lajpuk esa Hkh cnyko vk jgs gSaA¸ 

O;k[;k dhft,A 

 [k.M&[k  

uksV % fdUgha pkj iz'uksa ds mÙkj yxHkx 250 'kCnksa 

(izR;sd) esa nhft,A 4×12=48 

5- Hkkjr esa of̀¼eku vkS|ksfxd #X.krk ij la{ksi esa ppkZ 

dhft,A bls jksdus ds mik; Hkh lq>kb,A 

6- fdlh vFkZO;oLFkk esa m|ksx dh LFkkuh;rk dks fu/kZfjr 

djus okys dkjdksa dh O;k[;k dhft,A 
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7- Hkkjr esa lkoZtfud {ks=k dh eq[; miyfC/;ksa dh 

la{ksi esa leh{kk dhft,A 

8- Hkkjr esa lw{e] y?kq ,oa eè;e m|eksa ds le{k vk 

jgh izeq[k leL;kvksa ij laf{kIr ppkZ dhft,A 

9- Hkkjr dh vkfFkZd laof̀¼ esa cgqjk"V ªh; fuxeksa }kjk 

fd, x, ;ksxnku dk ewY;kadu dhft,A 

10- ^eqnzk cktkj* vkSj ^iw¡th cktkj* esa Hksn dhft,A ns'k 

dh vkS|ksfxd izxfr esa iw¡th cktkj ds egRo dh 

O;k[;k dhft,A 

[k.M&x 

11- fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k¡ fyf[k, % 

2×6=12 
(d) iz'kqYd ck/k,¡ rFkk xSj&iz'kqYd ck/k,¡ 

([k) ckSf¼d lEink vf/dkj 

(x) vkfFkZd 'kfDr dk ladsUnz.k 
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